Operation Service
Parts Manual
TT045 -IPE




SUBJECTSECTION, PARAGRAPH

=

TABLE OF CONTENTS

SAFETY PREAUTIONS
General

Crushing And CoII|S|on Hazard

PREOPERATION™

(el

IXHYGRAUIC SEREIMAIE ™
APPENDIX PERIODIC REPLACEMENT PARTS

5

Pre-Service Chec¢K ™"

P ONIE] TraINIfIG
IO Trainiig
TFAINING. SUPEIVISIGH "
OEIALOr RESPONSIDIII™
VVOTKPIAGE IMSPECHGH ™
MACRINE INS GG~

TECHNICAL SPECIFICATIONS
OPERATINGGUIDE "

1 OOl PANE] OpEIatiGiy ™
Maximum Speed / Profile INGIGAIGH s s s
Maximum Speed Indlcator e e e e e e et e e e e 1 e s 1 e s s e e s e et e e e et e e e

Profile Indicator™ """~

O B~
Speed / Profile Decrease BULOH ™"«
Speed / Profile INCrease BUHBI" "«
ACILATON BULLOMS I LED o o o o o o o o o
CONMTO PANE] OpErafig

2 ETBIGENCY StOp BUHON OpETAfigH™ "t

3 FOOUHANG DEadman Operalithy s

AEmergenCy Lower Qperafigi™

5.Ratformsafety bar™" """ """

MATTERS NEEDING ATTENTION
OIL CHANGE IN THE HYDRAULIC SYSTEM

BATTERY CHARGER
BATTERY ==~

OPERATOR MAINTENANGE: o o
HYrAUIIG. Ol (HO)™
L UIDIIGALION SEGIICAHIONE: ™
Lubrication Intervals for Various Gompomeffs v v
STORAGE AND TRANSPORTING

ELECTRICAL DIAGARAM™

DECAL INSPECTION
Nameplate ™"

PAGE NO.

© O OWOWWOWWOOOWOWMOOOOOOO U h,DMDWNDNDNDDNDDN

NNNNNNRPREPRRRPEPRRRERRRRPR
OO NRONNODOOODUDMDMDMWWNNOO




PREFACE
Read this instruction carefully before the machine is taken into use to avoid
errors. Correct operations and regular inspections are factors of vital importance for the
operating economy and lifetime of the machine.
These important partse described in the following related sections.
All the information contained in this booklet is based on the data available at the time of
printing, the manufacturer reserves the right to modify its products at any time, without notice
and without liabiity. It is therefore advisable to regularly check for any changes.

3 APPLICATION
El ectric Aeri al Order Picker is the best €
intended for use on plane and level floors. Easy driving and operating. Lift or fall steadily.
Safe and reliable. Suitable for order picking applarain distribution warehouses.

n SAFETY PRECAUTIONS
GENERAL
This section outlines the necessary precautions for proper and safe machine usage and
maintenance. For proper machine use, it is mandatory that a daily routine be established based
on the conteinof this manual. A maintenance program, using the information provided in this
manual and the Service and Maintenance Manual, must also be established by a qualified
person and must be followed to ensure that the machine is safe to operate.

The owner/uséoperatoeazrlessee of the machine should not accept operating
responsibility until this manual has been read, training is accomplished, and operation of the
machine has been completed under the supervision of an experienced and qualified operator.

If there are any questions with regard to safety, training, inspection, maintenance, application,
and operation, please contact the manufacturer.

Trip and Fall Hazard
The manufacturer recommends that the operator in the platform wear a full body harness
with a lanyard attached to an authorized lanyard anchorage point. For further information
regarding fall protection requirements on the products, contact the manufacturer.

|'| -

Before operating the machine, make sure all railimgd) gates are fastened in their proper
position.

Page2



Keep both feet firmly positioned on the platform floor at all times. Never use ladders,
boxes, steps, planks, or similar items on platform to provide additional reach.

Neveruse the mast assembly to enter or leave the platform.

Use extreme caution when entering or leaving platform. Ensure that the mast assembly is
fully lowered. Face the machine when entering or leaving the platform. Always maintain
At hr ee poi nthe madhine, wsingttvoo handstarnd one foot or two feet and one
hand at all times during entry and exit.

Platformto-structure transfers at elevated positions are discouraged. Where transfer is
necessary, enter/exit through the gate only with the platfoitiinal foot (0.3m) of a

safe and secure structure. 100%adikis also required in this situation utilizing two
lanyards. One lanyard must be attached to the platform with the second lanyard attached
to the structure. The lanyard connected to the platforust not be disconnected until
such time the transfer to the structure is safe and complete.

Electrocution Hazard

Minimum Safe Approach Distance (M.S.A.D.)

VOLTAGE RANGE
(PHASE TO PHASE)

MINIMUM SAFE APPROACH
DISTANCE -Feet (m)

0-50KV 10(3)
Over 50KV to 200KV 15(5)
Over 200KV to 350KV 20(6)
Over 350KV to 350KV 25(8)
Over 500KV to 750KV 35(11)
Over 750KV to 1000KV 45(14)

NOTE: This Minimum Safe Approach Distance shall apply except where employer, log
govermmental regulations are more stringent.

Page3



Maintain a clearance of at least 10 ft (3m) between any part of the machine and its occupants,
their tools, and their equipment from any electrical line or apparatus carrying up to 50,000
volts. One foot (0.3m) addiinal clearance is required for every additional 30,000 volts or
less.

The minimum safe approach distance may be reduced if insulating barriers are installed to
prevent contact, and if the barriers are rated for the voltage of the line being guarded. Thes
barriers shall not be part of (or attached to) the machine. The minimum safe approach distance
shall be reduced to a distance within the designed working dimensions of the insulating
barrier. This determination shall be made by a qualified person imdarwe with employer,

local, or governmental requirements for work practices near energized equipment.

Tipping Hazard
The user should be familiar with the surface before driving.
Do not exceed the allowable side slope gratle while driving.
@

X

Do not elevate platform or drive with platform elevated while on a slope, or on an uneven
or soft surface.

Before driving on floors, bridges, trucks, and other surfaces, check allowable capacity of
the surfaces.

Never exceed the maximuplatform capacity. Distribute loads evenly on platform floor.
Keep the chassis of the machine a minimum of 2 ft. (0.6m) from holes, bumpsfigiop
obstructions, debris, concealed holes, and other potential hazards at the ground level.
Never attempt tause the machine as a crane. Do nobffemachine to any adjacent
structure.

Do not increase the platform size with unauthorized deck extensions or attachments,
increasing the area exposed to wind will decrease stability.

If mast assembly or platform eaught so that one or more wheels are off the ground, the
operator must be removed before attempting to free the machine. Use cranes, forklift
trucks, or other appropriate equipment to stabilize machine and remove personnel.

Crushing And Collision Hazard
Personal protection equipment must be worn by all operating and ground personnel.
Check work area clearances above, on sides, and bottom of platform while driving and
lifting or lowering platform.

Page4



During operation, keeplabody parts inside platform railing.

Always post a lookout when driving in areas where vision is obstructed.

Keep noroperating personnel at least 6 ft. (1.8m) away from machine during all driving
operations.

Limit travel speed according to conditionsgsbund surface, congestion, visibility, slope,
location of personnel, and other factors causing hazards of collision or injury to
personnel.

Be aware of stopping distances in restricted or close quarters or when driving in reverse.
Do not drive at high spels in restricted or close quarters or when driving in reverse.
Exercise extreme caution at all times to prevent obstacles from striking or interfering with
operating controls and persons in the platform.

Ensure that operators of other overhead and fleeglImachines are aware of the aerial
wor k platformbs presence. Di sconnect powe
Warn personnel not to work, stand, or walk under a raised platform. Position barricades
on floor as necessary.

FAILURE TO COMPLY WITH THE SAFETY PRECAUTIONS LISTED IN THIS
MANUAL COULD RESULT IN MACHINE DAMAGE, PROPERTY DAMAGE,
PERSONAL INJURY OR DEATH.

PRE-OPERATION

Pre-Service Check

1.1f themachinehas been damaged during transport, it must not be put into service, and you
should immediatgl contact your dealer.

2.Themachinehas been lubricated before delivery, and the hydraulic unit has been filled
with hydraulic oil.

3.If a battery has been supplied with thachine the battery is charged.
Check that the acid level is correct in eachaed that the specific gravity is in order.

Page5



Personnel Training

The aerial platform is a personff@ndling device; so it is necessary that it be operated and
maintained only by trained personnel.

Persons under the influence of drugs or alcohol ar e#te subject to seizures, dizziness or
loss of physical control must not operate this machine.

Operator Training
Operator training must cover:

1. Use and limitations of the controls in the platform and at the ground, emergency controls
and safety systems.

2. Control labels, instructions, and warnings on the machine.

3. Rules of the employer and government regulations.

4. Enough knowledge of the mechanical operation of the machine to recognize a
malfunction/

5. The safest means to operate the machine where overheadctbss, other moving
equipment, and obstacles, depressions, holes;aff®pare present.

6. Means to avoid the hazards of unprotected electrical conductors.

7. Specific job requirements or machine application.

Training Supervision

Training must be done undére supervision of a qualified person in an open area free of
obstructions until the trainee has developed the ability to safely control and operate the
machine.

Operator Responsibility

The operator must be instructed that he/she has the responsildligutority to shut down
the machine in case of a malfunction or other unsafe condition of either the machine or the
job site.

NOTE: The Manufacturer or Distributor will provide qualified people for training
assistance with the first unit(s) delivereddgrom that time forward as requested
by the user or his/her personnel.

Workplace Inspection

- The operator is to take safety measures to avoid all hazards in the work area prior to
machine operation.
Do not operate or raise the platform while on truckailears, railway cars, floating
vessels, scaffolds or other equipment unless approved in writing by the manufacturer.
This machine can be operated in temperatur@&2@dto 48 Consult the manufacturer for
operation outside this range.

Machine Inspectin

- Before machine operation, perform inspections and functional checks.
Do not operate this machine until it has been serviced and maintained according to
requirements specified in the Service and Maintenance Manual.
Ensure all safety devices are operagngperly. Modification of these devices is a safety
violation.

Page6



WARNING
MODIFICATION OR ALTERATION OF AN AERIAL WORK PLATFORM SHALL
BE MADE ONLY WITH PRIOR WRITTEN PERMISSION FROM THE

MANUFACTURER

Do not operate any machine on which the safety or insbrugilacards or decals are
missing or illegible.

Avoid any build up of debris on platform floor. Keep mud, oil, grease, and other slippery
substances from footwear and platform floor.

Page7



h TECHNICAL SPECIFICATIONS

Technical specifications and major dimensions are shown in TABLE 1 and FIGURE 1,

respectively.

§
i
1 E“ =
£H
L |
Y L fo)t ! ]
1
L -
|
] TT T
[=3 u
B
Ll
FIGURE 1
TABLE 1
TYPE TT045IPE
Maximum Platform Height(h2) mm 4500
Maximum Machine Height(h3) 5670
Rated Capacity kg 300
Platform Size(Ixn) mm 900x640
Maximum Diive SpeedPFlatform Lowered) km/h 4
Maximum Drive SpeedRlatform Raisef 11
Minimum Turning Radius mm 0
Maximum Travel Grade (Grade ability) % 30
Driving Motor v/kw 2x24/0.4~0.5
Lifting Motor vikw 24/2
Battery v/Ah 2x12/120
Charger V/IA 2412
Oveall Length(L) 1468
Overall Width(W) mm 700
Overall Height(h1) 2070
Net Weight kg 675
Ground Clearance(h4) mm 50

Page8




N OPERATING GUIDE

1. Control Panel Operation
Joystick

Control Panel —

Charger and
Programmer Socket

Joystick

The primary function of the joystick is to control the speed and directioreof th
machine The further you push the joystick from the center position the faster the
machinewill move. When you release the joystick the brakes are automatically
applied.

If the machine is fitted with actuators, the joystick can also be used to select and
move actuators
Maximum Speed / Profile Indicator
This is a gauge which shows the maximum speed setting for the machine or, if the
control system is programmed for drive profile operation, the selected drive profile.
For more information on drive profiles
This gauge also indicates if the speed of the machine is being limited or if the
control system is locked.

Maximum Speed Indicator

This is a gauge that shows the maximum speed setting of the machine. There are
five speed settingsstep 1 is the lowespsed and step 5 is the highest speed. For
details of how to change the maximum speed setting

Profile Indicator

This is an indicator that shows the selected drive profile. There may be up to 5 drive
profiles available, this depends on the programming efciintrol system. For details of
how to select drive profiles

Horn Button

The horn will sound while this button is depressed.

Speed / Profile Decrease Button

This button decreases the maximum speed setting or, if the control system is
programmed for driverofile operation, selects a lower drive profile.

It is possible to program the control system so this button has no effect while the
machine is being driven

Speed / Profile Increase Button

This button increases the maximum speed setting or, if theotsgtem is

programmed for drive profile operation, selects a higher drive profile.

It is possible to program the control system so this button has no effect while the
machine is being driven

Page9



Actuator Buttons and LEDs

Depending on whether the machisditted with one or two actuators, the operation

of these buttons will differ.

Control Panel

There areeightbuttonsand twoindicator light on thecontrol panelAsit shows:

PlatformJoystickcontroller

1

2
3
4

On-off button
Horn button
Mode button

Decelerating button

Accelerating button
Battery indicator light
Mode indicator

Drive speed indicator

o N o O

-

.

@

Ground Control Panel

1 Key switch

® o o

2 Powerindicator 3 Red Emergency Stop button

Attentiorl the protection of the basic functions of thachine tipping is as follows:

1. When patform lowest position, the machine tipping angle> 105<-1.5 °, machine can
track,platformcamotbeelevaed;

2.,When patform elevaed,the machine tippingrgle> 1.5 dr <-1.5 °,machine canot
track, platformcannot beelevaed.You should use the emergency fall button.

Indicator ligh 6 isBattery Gaugelt is used to displaglectric quantityor malfunction The
battery Gauge has ten bars. They ardlash wherthemachineis good. If thepickerhas
malfunction they will flash.The detailed trouble is as follows:

Pagel0



The baftery needs charging or there iz a bad connaciion fo the
baftery. Check the connecticns to the baftery. If the connactions
are good, try charging the battery.

The left hand motor® has a bad connection. Check the
connections o the left hand motor

The keft hand motor® has a short circuit fo a baftery connection.
Contact your service agent.

The right hand motor* has a bad connection. Check the
connections fo the right hand module.

The right hand motor® has a short circuit 1o a battery connection.
Contact yvour sarvice agent.

The whealchair i being preventad from driving by an external

signal. The exact cause will depend on the fype of whealchair
you have, one possibility is the battery charger is connected.

A joystick fault is indicated. Make sure that the joystick is in the
center position before switching on the confrol system.

A control system fault is indicated. Make sure that all connactions
are secura.

The parking brakes have a bod conneclion. Check the parking
brake and motor connactions. Make sure the confral system
connections are secure.

An excessive voliage has been applied to the conirol system.

This is wsually caused by a poor battery connection. Check the
baftery connactions.

A comunication fault is indicated. Make sure that joystick cabla
iz sacurely connected and not damaged.

An Actuator frip is indicated. If more than one actuator is fitted,
check which actuator is nof working comactly. Theck the actuator
wiring.

Pagell



2. Emergency StopButton Operation

Behind the joystick there is a big mushreshaped button which is provided for emergency
stop. This should be used only when other means to stqyietifierm movingfails. Reset the
button by turning the knob in the direction shown by the arrow. Do not pull the knob.

3. Foot/Hand Deadman Operation

N NS R, D ¥ ' A d

NN NS ' % !
DN | m—
BERGEE. may Oy | ) é = X

'

Foot Deadnan Hand Deadman
A deadman device is fitted tvoid involuntary movemewff the machine by the operator
touching the joystick The joystick will be activated only when ypuessand hold orfFoot
or Hand deadman button(depend on ymachines configuration)

Pagel2



4. EmergencyLower Operation

Pull the knolshownabove to lower platform when the platform c@tower naturally.

5. Platform safety bar
The platform safety barhas to be used when you want to repair and maintain the madpiease lift the
platform a little higher than safety bar position, swing out the bar to 180 degree and put down the platform o

the safety bar, then you can start to repair and maintain.

————
[N/
SAkaf IH#FE
(\ 1]
RA4
ERRIK
1 | — 1

Pagel3



n MATTERS NEEDING ATTENTION

The goods should be put on the faah evenly. And preventoverloading.

It is forbiddento stand under the platform when it is working or driving.

The machinenust be operated on the smooth and salidaces, clear of obstacles

Please useap block during overhadlydraulic pump unit o battery.

Please press down the power button and the emergency stop switch if inisisefor a

long period oftime.

. After the platformis raised, if the machine has malfunc&ahyou shoulduse the manual
descent control valvi® lower the machinéefore further use machine must be inspected
or repaired).

7. For saving the electricity, please cut off the power after operating.

A

»

DAILY CHECK
Check that the battery is fully charg@ge also the section of the battery).
Lift the platform to its top pason to check that there is enough hydraulic oil in the system.
Refill if necessary with YAN32 or a similar oil.

N

WEEKLY CHECK

The user of the picker should spend a few minutes every week on cleaning. Special attention

should be paid to the wheels andesx see if there is thread, rags and the like blocked on.

HALF -YEAR CHECK
1. Lubricate the lifting chain. Check the chain for wear.
2. Check and tighten possible loose screws and nuts and the cable joints of the battery.
3. Check brush wear in the pypnmotor, and take away possible irreguarthat a good
contact is maintained.

OIL CHANGE IN THE HYDRAULIC SYSTEM
We recommend to change the hydraulic oil
even if the operation time has not reached, chdhgeoil once a year. Use hydraulic oil
YA-N32 or the like. Oil should be filtered clean and maintained adequate.

When you have lifted and levered the platform 2 or 3 times, there is no more air in the system,

and the machine will again work normally. IfetHift height has not been obtained it is
necessary to refill.

Forbid to dump the dirty hydraulic oil anywhere at random after the hydraulic oil is changed.
The dirty hydraulic oil must be subject to special prescription and comply with the current
legal povisions in the area and country where the machine is used.

Pagel4



BATTERY CHARGER

Charger Indicator ON/OFF Switch

AC Input

~
J
AC Input Voltage
Battery Indicator Selector

FIGURE 3
When AC input, the fan will running, charge indicator will flash and battery indicator which
displays the battery capagits on. When taking out AC, the fan will stop, battery and charge
indicator will still on in a short time, a few minutes later, charge indicator will put out, battery
indicator is still on.

When battery indicator display 30%, please charge in tire, and choose the fit voltage.
Recharging lasts at least 12 hoursT he machi nedés platform driv
are disabled when the battery charge. If the machine will stop using for a long time,
please charge in the fixed time.

BATTERY
Toensir e the batteryds better performance and
regularly. If the liquid level is below the lower line, please add distilled water or purified
water till the level reaches the upper line. Refilling must not taeepuntil charging has
been finished, as the acid expands during charging. The battery surface must be kept clean
and dry, as dirt and wet will cause leakage of current and consequently reduced battery
capacity.

For saving the battery, when operag is finished, please turn off the battery button, pull
out the key.

Pagel5



O OPERATOR MAINTENANCE

Lubrication
Hydraulic Oil (HO)
HYDRAULIC SYSTEM OPERATING
TEMPERATURE RANGE SAE VISCOSITY GRADE
+0°F to +180°F{18383) 10W
+0°F to +210°F (183993 10W-20, 10W30
+0°F to +210°F {18399 20W-20

Hydraulic oils must haveantiwear qualities, and sufficient chemical stability for mobile
hydraulic system service. The manufacturer recommends Mobil fluid 424 hydraulic oil, which
has an SAE viscosity of 10080 and a viscosity index of 152.

For cold weather applications, i.e.néh temperatures remain consistently below +267% (
The manufacturer recommends using Mobil DTE 13 hydraulic oil.

Aside from The manufacturerds recommendat i
brands or types, as they may not contain the same required additives or be of comparable
viscosites. If use of hydraulic oil other than Mobil fluid 424 is desired, contact the
manufacturer for proper recommendations.

Table 3-1. 71 Lubrication Specifications

KEY SPECIFICATIONS

Multipurpose Grease having a minimum dripping point of 350°F. ExcE
MPG- | water resistance and adhesive qualities, and being of extreme pressur
(Timken OK 40 pounds minimum.)

Extreme Pressure Gear Lube (oil) meeting API service classificatioh G

EPGL- | viL -Spec MILT L-2105.

HO- | Hydraulic Oil. ISOVg grade 32, 8.

CL- | Chain Lube. Use a good quality chain lubricant

Pagel6



Table 3-2. Lubrication Intervals for Various Components

INTERVAL ®
NO/TYPE®
ITEM | COMPONENT | LUBE LUBE/METHOD 3 6 1 2 COMMENTS
POINTS MON | MON | YE | YE
THS |THS | AR | ARS
Fill HO-Check Check ﬂlzlcl)d level
L | Hydraulic | the Hyd. Oil Level . f:‘gr{deay'h draui
oil Reservo | HO-Change hang y
. ) oil
ir Hyd. Oil
every 1 year.
2 Caster 2-Grease | MPG-Pressure 5
Axles Fittings Gun
3 Swivel 2-Front MPG-Pressure 5
Raceways | Casters Gun

Key to LubricantsMPG- Multipurpose Grease
HO- Hydraulic Oili ISO-Vg grade 32, 46.
CL- Chain Lube. Use a good quality chain lubricant

Notes: (a)Be certain to lubricate like items on each side of the machine.

(b) Recommended lubricating intervals are based on normal use. If machine is subjected t
operating conitions, such as a high number of cycles, location, corrosive/dirty environ|
etc., user must adjust lubricating requirements accordingly.

(c) Prior to checking hydraulic oil level, operate machine through one complete cycle

function (full up anddown). Failure to do so will result in incorrect oil level reading on
hydraulic reservoir.

0 STORAGE AND TRANSPORTING

STORAGE

Electric Aerial Order Pickemust be stored in a horizontal position, in order to prevent the oil and
the electrolyte willoverflow, when transporting and storifhen stores it, it must be kept clean

and keep far away from the damp and bad climate. The temperature of environment should
not be morethan 40 I f t he battery isndét worked for
timely.

TRANSPORTING, LIFTING AND TIE DOWN PROCEDURES
All Series Model Personnel Lifts may be transported to a work site using the following
methods:
- Driving the machine around on its base wheels if travel surface area permits.
Loaded, IN AN UPRIGHT POSITIN ONLY onto a heawguty vehicle with the payload
capacity capable of supporting the full weight of the machine (Check machine gross
weigh in the Operating Spec Chart at the beginning of this Section).
Moved with a forklift truck using the forklift pockgin the base frame.

TRUCK TRANSPORT

CAUTION
DO NOT TRANSPORT THE MACHINE IN A HORIZONTAL POSITION DUE TO LEAKAGE OF
BATTERY ACID FROM THE BATTERIES OR HYDRAULIC FLUID FROM THE HYDRAULIC
RESERVOIR.

The machine may be winched onto a tilted-baltk truckbed (see important note following),
which has been rolled back to ground level. Disengage the brakes and always winch (pull)
from the mast (rear) end of the machine.

Pagel7



IMPORTANT
DO NOT ATTEMPT TO DRIVE MACHINE ONTO, OFF OF, OR PUSH MACHINE
ONTO ATILTED RO LL -BACK TRUCK BED.
THE MACHINES POWER MODULE COULD SUSTAIN SERIOUS DAMAGE
WHEN THE UNIT IS PUSHED, OR TOWED AT SPEEDS GREATER THAN 2 MPH.

IMPORTANT
USE OF EXCESSIVE FORCE WHEN SECURING MACHINE (DRIVE WHEEL
LOAD), CAN CAUSE DAMAGE TO THE MACHINES DRIVE WHE EL
COMPONENTS.
The chain should be securely tightened with a force of approximately 100 Ib. applied two feet
from the pivot handle.

Fork-Lift Truck Transport

All Model Lifts are equipped with wide forklift pockets. This allows the machine to be either
transported around a work area or lifted onto a higher level using a standalidt toukk.

NOTE: Fork-lift trucks must be capable of handling the gross weight of the machine.

Fork Lift Pockets

Pagel8



INSPECTION AND REPAIR LOG
Machine Serial Number:

Table 4-1. Inspection and Repair Log

Date Comments

WASH HANDS AFTER HANDLING!

Pagel9




o ELECTRICAL

DIAGRA M

¢ KMI-e
KA1
sQ1
M~ KA2
QQE —
AC220V Charger DC24V/15A
s
KTF
KAF 1
T T T
= KTF >
FU?2 SB1 SB2 JBM
) o] motor+ L,y [®)1 KA3
KM1
®| brake+ uUs JSM
LED SQ2' KA1
® brake- CA
GNSSBS M2
[ ®| motor- GND
: BA+ Ai+ I
4
FU1 Rnet kL>< IN/OUT
@ BA- A |e - ﬁ
| s|motor+ N, ﬁT X
—— ®|brak —
— E ® DrakeT INw=q®) [
— M3 e/brake- OBG[e)] —— KAF
~ T~ 4
wﬁ e motor OBG’L KAD
sign description model sign description model
E battery MF120/20H 12V-120AH FU2 Start technology 10A
M1 Pump motor W8010-24V-2.0KW SB2 key switch ZB2BG2C/ZB2BZ101C-6A
FUl Start technology 100A SB1 Emergency switch | ZB2BS54C/ZB2BZ102C-6A
KM1 Main contactor MZJ-200S/1201B DC12V /100A IN/OUT | Up/down controller | IN4004-4-1/0 (6A/600V)
KM2 Pump contactor W800801-1 DC12V 80% M3 Pump motor DC 24V 2KW
VD diode 1N4004 6A/600V M2 Drive motor 113MP 0.4KW 24V/20A 1.4ANM
Rnet | controller D51109.01 24/100A JSM Joystick(up) D51122.01 24V LED
SQ1 Limit switch AZ8 104 5A250VAC RS-323 | Tilt sensor X-3°/Y-5°
YV Solenoid DC24V RH strobe DC24Vv
PVo Pressure sensor 0~15MPa JBM Foot switch AC205V/5A
KA1 relay DC24V KA2 relay DC24V
KA3 relay DC24V KAF relay DC24V
KTF Time relay 0~15MPa SBS Emergency stop 100A
QQE | charger DC24V

Page20




B wn

© N

IX Hydraulic schematic

16 Power pack & Emergency lower valve
30 lift coil 49 Hydraulic pipe
50 Lift cylinder @ Throttling valve

7l check valve

Only personnel who are prae trained and have adequdteowledge and skill should
undertake all electrical/troubtehooting and repair.

Do not alter or bypasprotective interlocks.

Before starting, read and observe all warning labels.

When trouble shooting make sure the power source has been disconnected and main
switch has been locked.

Take extra precautions in damp areas to protect you from accidentadligigpun

Do not open the electrical control panel unless it is necessary to check the electrical
equipment.

Do not alter the electrical circuits unless authorized to do so by the manufacturer.

When replacing electrical components, make sure they conformeto tmanuf act ur
specifications, including proper color coding.

Do not wear metal frame glasses, metallic necklaces or chains while working on any
electrical equipment. Also do not wear any ring, watch or bracelet while operating
electrical equipment.

Page21



® SPARE PARTS

Page22



SPARE PARTS

ITEM DESCRIPTION QTY ITEM DESCRIPTION QTY
1 Bolt 1 32 Outer mast frame 1
2 ball bearing 1 33 Battery 2
3 Nylon pulley 1 34 Charge 1
4 Fitting seat 1 35 Nut M12 9
5 Bolt M6 x 30 2 36 Spring washet?2 11
6 Bolt M6x20 2 37 Plat washed2 10
7 Cover 1 38 Nut M12 1
8 Bolt M5 x 14 2 39 Battery charger holdlown channel 1
9 Bolt M4 x 10 4 40 Cover with battery 1
10 Clip 4 41 Spring Washel6 2
11 Nylon pulley 2 42 Screw M6*12 2
12 Bolt M4 x 10 2 43 Lateral roller retainer 2
13 Fitting seat 1 44 Plat washeD12 8
14 Bolt M8 x 20 2 45 Nut M12 8
15 Guide 1 46 Spring Washer 8
16 Motor seat 1 47 Roller 10
17 Bolt M10*25 2 48 Circlip 62 10
18 Spring Washei8 12 49 Bearirg 180206 10
19 Bolt M8*25 4 50 Circlip 30 10
20 Hydraulic power unit 1 51 Spacer 10
21 Battery charger hokdown channel 4 52 Chain bolt 4
22 Screw 8 53 Pin D2.5 4
23 Bolt 4 54 Nut M14 8
24 Cover 1 55 ChainLH0844 4
25 Spring washeb 2 56 Enlarge chain plat 16
26 Nut M6 2 57 Pin D2 16
27 Motor baffle 1 58 Chain pin 8
28 Bolt M10*35 8 59 Handle seat 1
29 Spring washed.0 8 60 ScrewM4-16 2
30 Plat washet0 8 61 ScrewM5-16 4
31 Rear wheel 2 62 WasheD5 1

Page23




SPARE PARTS

ITEM DESCRIPTION QTY ITEM DESCRIPTION QTY
63 Handle 1 94 O-ring 1
64 Switch 1 95 O-ring 1
65 Third welded mast 1 96 Head 1
66 Second welded mast 1 97 Dust seal 1
67 Axle 2 1 98 Explosion relief valve 1
68 Circlip D25 8 99 ScrewM12-35 1
69 Sprocket 4 100 Spring washeD12 1
70 Nylon pulley 2 101 Screw Mg 12 4
71 Bearing60105(60052) 12 102 | Plate 4
72 ScrewM8-25 103 Cover 1
73 Joint plat 104 Bar 1
74 Spacer 105 | Hold frame 2
75 Lateral roller 106 Roller 1
76 Lateral roler retainer 107 Nut M6 2
T | Axle 108 | Washer6 2
8 | Axel 109 | NutM6 2
79 | Anchor loop 110 | WasheD6 4
80 | Rubber pad 111 | Bolt M6x55 2
81 | Platwashes 112 | Bolt M6-45 2
82 Nut M8 113 Beacon 1
83 Pin 114 Harness hole 4
1

84 Circlip 20 115 Anti-crush switch

85 Circlip 16

86 Stop block

87 Pin

88 Nut

89 Gasket ring

90 Piston
91 O-ring
92 Spacer sleeve

PlrlrlRrlRr|lRr|lRr|lRr|Rr|RP|RP|NMN|MR|RP|[RP[MDMIDP|lo|D|o

93 Piston rod

Page24




APPENDIX PERIODIC REPLACEMENT PARTS

INDEX DESCRIPTION QTY. ITEM#
1 Caster 2 42
2 Adjustment sheet N 74
3 Roller shaft 4 77
4 Lateral roller 2 75
5 Sprocket shaftn 1 78
6 Sprocket shéN 1 67
7 Circlip 25 1 68
8 Circlip 15 2 54
9 Roller 8 46
10 Bearing 8 49
11 Circlip 30 8 50
12 Circlip 62 8 47
13 Spacing piece 8 51
14 Spacer 8 51
15 Circlip 20 1 84
16 Gasket ring 1 88
17 O-ring 1 90
18 O-ring 1 93
19 O-ring 1 94
20 Dust seal 1 96
21 Anchor loop 1 79

Page25




DECAL INSPECTION

—

13

14

15

Page26




No. | PartNo. Description Qty.
1 Logo 1
2 Notice-Keyswitch 1
3 Warning-Battery charge 1
4 Model Name Decal 1
5 Wheel pressure 3
6 Notice-Charging 1
7 Crane Hole Decal 2
8 9441023 Forklit Pocket 2
9 Nameplate 1
10 Tie Hole Decal 2
11 Warning 2
12 IPAF 1
13 Notice-Manual box 1
14 Capacity 1
15 Warning 1
16 | 9421037 SGS 1
17 Series Name Decal 2
18 Emergency lower Decal 1
19
20
21
22
23

NS}
~

Page27




Nameplate
g R

AERIALWORK PLATFORM

This product complies with Australian Standard
AS 1418. 10(Int)-2004 and AS 2550.10-2006

Model No.

Serial No.

Date of Manufacturer

Unloaded Mass

Rated Capacity

No.Occupants

Max.Manual Force

Max.Wind Speed

Max.Ground Slope

Voltage/Amperage

Design Registration No.

Rated Capacity of Attachments

Commission Date

a Zhejiang DingLi Machinery Co., Ltd\
o &, No0.1255 Baiyun South Rd,Leidian
Town,Deqing,Zhejiang China
Tel: 0086-572-8681688,8681689
Fax: 0086-572-8681690
E-mail: market@chinadinli.com

k Http:// www.chinadinli.com J
L] L

Page28



